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An apple weighs about 100 gram:s.
A bag of sugar weighs 1 kilogram.
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Draw the things you think will Draw the things that might Draw the things you think will
weigh less than100 grams weigh about 1 kilogram weigh more than kg
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Weight
Sheet 2

How many 100g weights balance each item?
Write the number of weights. Count in steps of 100 to find the weight in grams.
The first one is done for you.

100g | 100g
100g 100g

100g Y 100g | 100g
fq mm @ Y 100g | 1009 | 100g
@) O
/ /
L L

Y \
N N

2 weights 200 grams weights weights

(]
|
>
®
»*
®
o
|
>
®
»*
®

100g | 100g
100g | 100g

[ 1009\ [ 1005 |
1005 \ [ 1009 \ 005 Y 1009 1005
fq mm m 100g | 100g [ 1009
o =T o
AN /
L

\
N N

® ¥ @€ V H o & ¥ & V H o & ¥ & VvV =E o

® ¥ @ V =H o

weights weights weights

® VvV 1m o
® VvV H o

Hamilton Trust practice_meas_2251_day]

vV @€ ¥ &8 06 B V @& ¥ & o H VvV & ¥ &8 o =R VvV & ¥ &8 o6 EHE V & ¥ &8 0o E V o +»




A @& % o 06 H A & x o 06 H A & x o 06 H A & *» o 6 E A & xx o © E A & <«

Weight
Sheet 2 continued

Draw each item weighed in the correct place in the table below.

Lighter than 500 grams Heavier than 500 grams
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{ Challenge |

Write some items that make the same weight, e.g. 8 apples = 1 cabbage.
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